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1) Find the general solution of
|

ym - 5y" + 6y'= 6 + 10e”.
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2) Consider the equation,

xy” _ (1+z)yl+y=z262-‘ﬂ, > O.

a) Verify that y1 = z +1 and y, = €® are two linearly independent solutions of the
homogenous equation associated with the given equation.
b) Find the general solution of the given equation.
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3) Find the general solution of

Br+ 1%y -303r+1)y + Y =183r+1), z> -1
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4) bnd the follow ing
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5) The gamma function ['(z) is defined by

I'(x) =/ e "u"'du, z>0.
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a) Show that for any real number r > —1, we have
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b) Find £ {t~1/2} (Use r(%) = V7)
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